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THE HIGH COURT OF MADHYA PRADESH : JABALPUR
(Exam Cell)
NOTIFICATION
No.- 752 /Exam/2022 Jabalpur, Dated- 22.02.2022

This is to publish the Proposed Model Answer Keys of Online Preliminary
Examinations to the posts of Stenographer Grade-2, Stenographer Grade-3, Stenographer
Grade-3 (Court Manager Staff), Assistant Grade-3 & Assistant Grade-3 (English Knowing)
(Total 05 Cadre) of various District Courts held on 22-02-2022 (Tuesday). High Court of
M.P. intends to use the Proposed Answers/keys in the evaluation of the aforementioned
Question Paper.

If any candidate(s) wishes to make any objection/clarification etc. regarding any
Model Answer/Key, he /she may, submit, in writing & signed by him, to the Exam Cell,
M.P. High Court, Jabalpur, via only post / by hand in Inward Section of M.P. High Court
within 07 days from the date of uploading / publication of the proposed Model Answer
Keys, during working hours (10:00am to 5:00pm), mentioning his/her Name & Application
number, along-with self attested photo copies of source document(s)/proof, on the basis of
which he/she has submitted the objection/clarification.

Obijections received via e-mail or any other online mode shall not be entertained and

stands rejected without assigning any reason.

Objections received within aforesaid time and in aforesaid mode shall be taken into
consideration. However, any objection/ clarification received without any authentic
proof/source or any objection/clarification received after aforesaid stipulated period/time
shall not be entertained/ considered on any ground whatsoever, it may be and shall stand
rejected without assigning any reason.

Objections received in aforesaid manner within aforesaid time limit alongwith
self attested copies of the source/proof, document shall be considered and the Model
Answer shall be finalized and used as Keys/model Answer for the generation of
result/valuation of the Online Preliminary Exams -2021.

After declaration of result, no representation regarding Question/ final Model
Answer, shall be entertained on any ground and shall stand rejected without assigning any
reason.

In case no objection is received within prescribed time then proposed model
answer/key shall be treated as final and result will be generated accordingly.

Encl. : Question Paper cum Proposed Model Answers of all 03 Shifts and Format for submitting
objection on proposed Model Answers.

72\ > E

(Vaibhav Mandloi)
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HIGH COURT OF MADHYA PRADESH : JABALPUR

Online Preliminary Exam of Class-3 Staff of District Court-2021

Proposed Model Answers alongwith Questions

Correct
h(l)c; Question / A Option Option 1 Option 2 Option 3 Option 4
’ No.
G.K. + G.S., Including GK of M.P. (30 Questions-English & Hindi)

1 |In which district of Madhya Pradesh 1 Dhar Jabalpur Hoshangabad Gwalior
" Jahaj Mahal" is located?

2 |Which among the following National 4 Madhav Satpura Pench Valmiki
Park is not situated in Madhya National Park | National Park | National Park | National Park
Pradesh?

3 |The state Bird of Madhya Pradesh is- 4 Pigeon Eagle Vulture Dudhraj

4 |To which district of Madhya Pradesh 3 Vidisha Burhanpur Khandwa Bhopal
""Mandhata Fair" is related -

5 |(In 1984 Bhopal gas tragedy was 2 Potassium Methyl Sodium None of these
caused due to leakage of which gas - Isocyanate Isocyanate Monoxide

6 |[Which among the following is not a 4 Right to Right to Right to move Right to
fundamental Right? Equality freedom of freely Property

Religion throughout
the country

7 |Who is Ex- Officio-Chairman of 2 President | Vice President Prime Speaker of
Council of State? Minister Loksabha

8 [How many Union Territories are 2 7 8 9 10
there in India?

9 |How many countries are member of 1 8 7 9 10
SAARC?

10 [Yen' is currency of which of the 1 Japan Norway Russia Canada
following country?

11 |Which among the following is the 1 Nilgiri, Andaman & Jaunsar- Aasam
habitat of Toda Tribe? Tamilnadu Nicobar Bawar

12 |Where is the Loktak lake Situated? 2 Uttarakhand Manipur Rajasthan Kerala

13 |Which among the following is the 1 Venus Jupiter Mars Mercury
brightest planet of Solar System?

14 [Rai folk dance belongs to which 2 Nimar Bundelkhand | Baghelkhand Malwa
region?

15 |Australia won T20 World Cup 2021 2 India New Zealand England Pakistan
after defeating which team?

16 (Who won gold medal in Mixed S0m 1 Manish Singh Raj Sumit Antil Yogesh
pistol SH1 Shooting in Tokyo Narwal Adhana Kathuniya
Paralympic on 4th September 2021?

17 |Who among the following was known 1 Bindusar |Chandragupta Ashoka Pushyamitra
as ""Amitraghata''? Mourya Shunga

18 |The Indian Councils Act of 1909 1 Introduction | Decentralizati Dyarchy Legislative
(Morley- Minto Reforms) was of separate on Council

associated to -

electorate
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Q. Correct
No. Question / U Option Option 1 Option 2 Option 3 Option 4
No.
19 [Third Battle of Panipat was fought 1 Ahmad Shah Babar and Akbar and Babar and
between whom ? Abdali and |Ibrahim Lodhi Hemu Medini Rai
Marathas
20 |Which among the following is 4 26 November, |24 November, | 24 January, 26 January,
enforcement date of Constitution of 1949 1949 1950 1950
India?
21 |“CHULIYA” waterfall is situated on 4 Sindh Bihad Narmada Chambal
which river?
22 (Which among the following is not 4 Begum Asgari | Allauddin Chakradhar | Amrita Shergil
related to the field of Music? Bai Khan Singh
23 (Who was the excavator of 1 Daya Ram | R.D. Banarjee| A. Ghosh Y.D. Sharma
"Harappa"'? Sahani
24 |Who was the chairman of drafting 4 N Gopala Dr. Rajendra | K.M. Munshi Dr. B.R.
committee of Constitution? Swamy Prasad Ambedkar
25 |(Who introduced theory of Drain of 2 Mahatma Dadabhai Pattabhi Annie Besant
Wealth in India? Gandhi Naoroji Sitaramayya
26 [NABARD is related to - 3 Rural Agricultural Both 1 & 2 None of the
Development | Development above
27 |Bhavantar Bhugtan Yojna is related 2 Women and | Agricultural Industry None of these
to - Child
Development
28 |Which organ is affected by 1 Lungs Nervous Intestine Bone Marrow
tuberculosis disease? System
29 |Which device is used to measure the 3 Barometer Cryometer Lactometer Anemometer
purification of the milk?
30 [In which part of the Constitution 1 Part IX Part X Part XI Part XII
there is a provision of Panchayati Raj
System?
1 |7ew v & Fw e & wee| 0 B FEAR gRreTETg TqTfer IR
Fger fowa &
) |[efefea & st @ o= 4 A T FAY3T I I Eicsiicy
3T weavey # fua adt 3ETE | TSI 3eTW | 3eT T 3T
3 |9 @ o uaft §- 4 FER a fareg quIS
4 |FUTa Aem w1 GeU ACANRW | 3 fafean TETR g $raer
e oo &
5 |1984 A auter W T R dw| 2 R Pz afzs FH A PS
¥ R & FRor g§ e FFEABAC | IFHABAC | A8 et
6 | & ¥ Flaw Afes| 4 AT H ey A QT A wafer &1
IR a8 2 ISR wWAAdT F1 | T@aT ¥ & IR
HOFR gHAA &I
FUER
7 |USTEHT FT UG HEWET FA @ 2 sgafa 37 USeqfd | WUTEHEA | Ahas &1
& Eiblif
8 |9Ra # A Fx afda wawr &2 2 7 8 9 10
9 [@F A raq e aw wfEwfea| o 8 7 9 10

&
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Correct

No Question / U4 Option Option 1 Option 2 Option 3 Option 4
’ No.
10 [ PR & @ 9 o 1 ST ard E:l FATST
iU
11 |[P=fef@a & ¥ il @1 a7 asr 1 AR, A IR | AR a@T ITH
Fanta w1 A faw & g2 afdreeg fAFER
12 |dFes sha Fgr U9 &7 2 EGRUCRE AfoTR Eract A
13 |[Pfaf@a & ¥ =9 gkaAsa &1 1 il eIt el Ty
FEY THET TE &7 .
14 [T o o e @ 2 oS ECCCE] THAES ATeAar
15 el & fFw & &t e & 2 HRT E CICE] ELEE] aTferEaTe
20 faea=wyg 2021 Shar
16 [t Tafeas 2021 & BfAT 50 o #AW aae | Re oo | gAG afae | aerr syfaa
. Need SHI e st & 4 AT
ﬁ:amzozum‘tﬁo‘rqwﬁmﬁ
17 ﬁmﬁﬁa##mmt 1 fagar Tged A I NF icelics
aAH ¥ T AT 82
18 [sRa@ oRwg sfafams 1909 @t - o I RF=liTtor ¥ @y amwe ¥ [faue oRwg @
ﬁag!mmaﬁﬁwwﬁﬁmm? ATOFHR
&5 F a1
FA A
19 |[gegg & il a5 Fas & 1 HEHCATE Y 3R Ihay AR Tl IR
GEK R LK egrelt 3R | sefRE A LY afgRm
ST
20 [=fefRa # @ sl @Y sma & 4 26 AGET 1949 [ 24 TG 1949 24 TG | 26 STAGH 1950
gfaure i gada Ay & 1950
21 g SevwE B ad w4 Ry digs e Tae
Tya &2
22 |Pafaf@a & @ &l wla & a3 4 TH FEI | ST TFR g | 3o WA
¥ gefta ag ¢ s 10
23 [‘g=oar @1 Ic@dAAwdl Fid 917 1 ZARTH ATEAT | AT 3. daTa1 T oY . 3. aaT
24 |[gfauer @ A yRw ¥@AA & 4 . M9 31 Tl F. vA. g 31 &) A
IEFeT ST A? T 931G FFSHT
25 [oRa & U f @SR # Qead| 2 AT AR [qremans SRS gcerfd Tl ade
g 9 R Aart
26 |[7mars wafta & 3 |[owhor e | R Rew @9 13k 2 [ sRIFa A @
FS G
27 |9 EaW A fRed| 2 afgen wa R 3@ | 3WEd A @
et § e e NS T
28 [ Uor ¥ Fia &1 3T wefAd 1 PRI afx&1 gormen EIGI HEHTT
g &2
29 [q¥ ¥ 2 ;N AGA g FE| 3 R FRET | ey | wieeR
IYFIOT FT FIRT FaT1 Frar 22
30 1 HTT 1X qTIT X HTT X1 HTT X1
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Question / U4

Correct
Option
No.

Option 1

Option 2

Option 3

Option 4

Maths + Reasoning (20 Questions-English & Hindi)

Directions- ( Q. No.s 31 to 33)

In the question below is given a statement followed by two assumptions numbered I and I1. You have to consider
the statement and the following assumptions and decide which of the assumptions is implicit in the Statement.

Give answer-

A) If only assumption I is implicit;
B) If only assumption Il is implicit;
C) If either I or Il is implicit;

D) If neither I nor Il is implicit.

31

QUESTION- Statement

Mr. A's recent investment in the
shares of company X is only a gamble.
Assumptions-

I) Mr. A may incur loss on his
investment.

ii) Mr. A may
investment.

gain from his

32

QUESTION- Statement

B told A “If you want to give any
advertisement, give it in the

newspaper DBZ'.

Assumptions-

I) Newspaper DBZ has a wide
circulation.

ii) A wants to publicize his products.

33

QUESTION- Statement

Virat left for Chennai on Tuesday by
train to attend a wedding in Chennai
on Friday.

Assumptions-

i) Virat may reach Chennai before
Friday.

ii) Virat may reach Chennai on

Wednesday.

Directions (Q. No.'s 34 to 38)

Read the following information carefully and answer the question given below:

A family consists of six members P,Q, R,S,T,U There are two married couples. Q is doctor and the father of T. U
is grand father of R and is a contractor, S is the grand mother of T and is a house wife. There is one doctor, one

contractor, one nurse, one housewife and two students in the family.

34

Question- Who is the husband of P?

3

R

Q

S

Question- Who is the sister of T ?

R

T

NONE OF
THESE

36

Question- What is the Profession of P
5

Housewife

Doctor

Nurse

Contractor

37

Question- Which of the following are
two married couples?

us, QT

us, QP

TS, RU

US, RP

38

Question- Which of the following is
definitely a group of male members?

QU

QuUT

QuP

UT
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No.

Question / U4

Correct
Option
No.

Option 1

Option 2

Option 3

Option 4

39

Arrange the following items from
general to particular-

1) Animal 2) Leopard 3) Mammal 4)
Cat

3 1,2,4,3

2,4,3,1

1,3,2,4

3,2, 1,4

40

Direction-

What will come in place of question
mark in the following question :-

47 X 27 + 15600 ~ 8 + 181 =?

4 3320

3420

3370

3400

41

Out of total income, Mr. Shrivastava
spends 20% on rent and 70% of the
rest on daily chores. If he saves Rs.
1800. What is his monthly income?

2 7800

7500

8000

7600

42

Ram and Shyam together fill a

cistern with water. Ram pours 4 liters
of water every 3 minutes and Shyam
pours 3 litres every 4 minutes. How
much time will it take to fill 100 litres
of water in the cistern?.

[

42 min

48 min

44 min

46 min

43

At what time between 12.00 and 1.00
O'Clock both the hands will be at
right angles?

4 180/11
Minutes and
240/11
minutes past
12

120/11
minutes and
300/11
minutes past
12

300/11
minutes and
540/11
minutes past
12

180/11 minutes
and 540/11
minutes past 12

44

3 men and 2 boys can do a piece of
work in 10 days while 2 men and 3
boys can do the same work in 8 days.
In how many days can 1 man and 2
boys do the work?

(3]

11 % days

2/
8 “;days

12 ' days

11 days

A man in a train notices that he can
count 21 telephone posts in 1 minute.
If the distance between each telephone
posts is 50 metres, then at what speed
is the train going?

3 55 Km/hr

57 Km/hr

60 Km/hr

63 Km/hr

46

The average age of 10 members in a
group is 21 years and one member left
the group, the average age is reduced
by 2 months. The age of the member
who left the group is:

3 22 years

19 1/3 years

22 ‘4 years

20 1/3 years

47

Prakash sold his table at 10% loss. If
he had sold it for Rs. 675/- more, he
would have made 5% profit. The
selling price (in Rs) of the table was

4230

4050

4150

48

P, Q and R can separately do a work
in 12, 15 and 20 days respectively.
They started the work together but R
left after 2 days. The remaining work
will be finished in?

4 6 days

15 days

5 days

4 days
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No.

Question / U

Correct
Option
No.

Option 1

Option 2

Option 3

Option 4

49

A cyclist covers a distance of 24 km in
a certain time with a certain fixed
uniform speed. If he increased his
speed by 2km/hr, he takes 2 hr less to
cover the same distance. Find his
original speed.

2

6 km/hr

4 km/hr

8 km/hr

5 km/hr

A boat goes 30 km upstream and 44
km downstream in 10 hours. In 13
hours, it can go 40 km upstream and
55 km downstream. The speed of boat
in still water is?

S km/hr

8 km/hr

6 km/hr

3 km/hr

forder (wee #.31 ¥ 33)

A B 7 v H v Fya A1 7 ¢, F9F 91 @ yRonw 19 28 7 | FUT W R{AER #7¥{ 3dk

g N F§ 7 yromat F ¥ Flad uron Fyw A @R

W gl

A) I Fae uron 1 AT §:

B) Ifg Faar yronm 2 Afga &
Ot A Faa 1am 2RI &
pyafxarar1a & 2@fRka 2

31

ToA- HYUA

FYA X HA AT v F71 adH@= F
frder Faa & Fam g

UM

) AR v F o3ua @Ey w
THAT 3BT T3 Thell B

3) X U 9 fdy @ @y 3o
ot Bl

32

9ee- HYUT
al 3¥WER DBZ & Q" B, A&
Fgdl g

OG-

1) FANER 95 DBZ &1 419§ YOR
gl
2) A YA 3G B THIRT FAT
aTET B

33

ge- HY
e ¢ F deo1s F 3TAST
mmm#m
aﬁa;ma:mmmam
aaéarﬁn}mmgam

I)WW#W?}F{?W
FHhar gl
2)ﬁﬂzamaﬁaﬁéq§?r
ot g
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Correct
h?(; Question / 94 Option Option 1 Option 2 Option 3 Option 4
’ No.
fder (wea #.34 F 38) .
frfaf@a swelt & seuEgEs 92 3k A R 1 gea &1 3w 8-
FIRER A & TEET PLQRS.TW U R A RaRa R g Qe sex g 3R THF RAar &1 U.R&
arer St § 3R vE FHher ¥ TH T s3I wF qfeoit ) oREr A oF s, vF AR, v AL E
afgolt ik @ o
34 [gea: P &1 gfa  Ha @2 3 R U Q S
3wl T AN F@gA FT O 1 R U T =T AP
T8

36 |weaT: P T QT 4T &7 3 gl 3iFe aq SHeR

37 |vee: efaf@a & @ Fla @ @ 2 US, QT Us, QP TS, RU US, RP

38 [yea: Af@a A ¥ A 1 QU QUT QUP uT
fafRaa ®7 & 7w @t &1 wE
£

39 [P=fafRa & gm== @ fRftse 3 1,2,4,3 2,4,3,1 1,3,2,4 3.2, 1.4
$ IR =gafeyd FL:-

I 9 2. dgIT 3. Faarll 4. faeelt]

40 |forder 4 3320 3420 3370 3400
T T # weaReE & W W
FAT ATTIA:- 47 X 27 + 15600 = 8 -
181="

41 | sharege 3ot 3 &1 20% 2 7800 7500 8000 7600
A @ qu AW F:F 0%

IARIFAHT W @Y g gl I«
34 9 1800 T H g9d @l &
a7 I3 fhae &2

12 [\ 3R wH FAdE uF A 2 2@ 8 43 16 .
gl MR B TH IS 3 Ree H
4T U9 AH TS 4 Reae & 3
e gl sRa &1 & & 100 e
Ul SR A fFder gHT daem?

$B3ER A I I T F T Faa 4 12 Fo1T 12 g9 12 T 12 goTaY
T A FHIE FHASIOT 9T g 180/11 f&. wa |120/11 . wa [300/11 &Y. v | 180/11 . vad

240/11 7. 9T | 300/11 . 90X | 540/11 A 9T | 54011 A W

44 3 GRS 2 A& TEH FA H 10 R 2 1y 823 &1 12 vifger 1 &=
#H QU &a ¢ 2 7™ IR 3 @sF
50w F RA A W WA ¥
R UG 2 dS% 3§ HH H fFad
Rar & qu = @

45 [t T F dar qsg =fFq | Aae| 3 55 fr.aft 57 /. 60 f.3ft./ 63 .Y/
A 21 The= frerar &1 I goeT guer queT TUeT
TAF B Q) Y gw #
gt S0 B @ & FRw TwaR &

LRGN
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Q Correct
N(‘). Question / U% Option Option 1 Option 2 Option 3 Option 4
No.
46 |t FHE H 10 weEA 1 Itwal 3 229¢ 1913 a¥ 2y ¥ 20 1/3 ¥
g 21 a9 F 1 WEET F, FHE X
T @A W 3T IY 2 AF FA
& It # ¥ AT B arer
qEET A I3TY g
47 |YTr o HUA! TqA BT 10% @Ifer 3 4500 4230 4050 4150
@ a9 I 38 675 Y HOw
¥ a9 gar @ 3¥ 5% HT ATH
AN aw F AET g @ #)
grmm?
48 [P, Q 3R R -39 tH FA F| 4 6 Baw 15 Raw 5fRaw 4 Raw
A 12, 15 3R 20 A A FW
Thd Bl 3R TH AT FE YW
fFar AfFa R a7 2 Y & @5
B 2a ¥ AN FE AT @
JTTT?
49 |tF FEHA ¥ER, 24 AL F g 2 6 4 & ava 8 5 . aoa
e fAfag gag 3@ A . # . e . # Y. moer
afReq vsaae 9w ¥ ¥ Far
g1 3k ag v 9w 2 B mver
T @ ) gt ¥ F F 2 "oer
FA odT g 3P qEdlEE 9T
AT HfaA
50 (v AT 10 9UE A URT A 2w F 2 5 fon.# Y. mver | 8 fnAfY.mver | 6 Bt aver | 3 &AL mua
44 At g g f Rada R
# 30 5l A g a7 A ¥ 7w
AT 13 gue H, arr i fem & ss
fr.a . v urr fY fRAgda fRem & 40
Al f g a7 F B oai@ I
H am@ Y g1 fFaen B2
Hindi (10 Questions-in Hindi Lanquage)
51 |‘Far g YR &1 &R 87 4 [Waad | gaudEs | feeagars TS
52 |‘HAEE @ faQdwor ereg @=emm? 4 " HATTadT AT RToT ATART
53 [ g R #1 gaaH 1 oA TEaa® | Rggards | Aferggards
54 |Reae w1 e 2 2 fagamt g fg@ar m%ﬁé
55 ;,nm‘sa##ﬁ»‘aaﬁ:wﬁm 2 g g g I
56 Wﬂﬁ?ﬂﬂ?ﬂﬂ" 3 T = g ICERIGH
57 |9+ #1 G I @Aedg &7 3 g+AF T +TH fa+TH qd+TH
58 |‘@& #T UUT AT FT TANT 5T 3 3@ ¥ §AT |q@ & §AT 3@l # 3@ @ Sfaa
I F O g o A | A qft @ | FER wF &1 g9 B,
TE & I | 3R @ 3R Ia: 3¢
F o F o el | 3ga= &
T F o
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Correct
36 Question / 94 Option Option 1 Option 2 Option 3 Option 4
i No.

59 [T %e gsen #1 3T 87 3 [T &1 IR | W #T 9@ | 3T o | g9 gl
60 [T adeht & ey F1 TIF FRA| 2 TR g BCERNC 3:1#:%3#3
English Knowledge (20 Questions-in English Lanquage)

61 |Choose the one which best expresses 1 Unite Conspire Connive Contrive
the meaning of the word
""Consolidate"'.
62 |Choose the one which best expresses 4 Infuse Calm Compel Encourage
the meaning of the word "INSPIRE".
63 [Choose the one which best expresses 1 Competitor Enemy Partner Friend
the meaning of the word "RIVAL".
64 |Choose the one which best expresses 4 Compensation |[Competition |[Computer Ability
the meaning of the word
"COMPETENCE".
65 |[Choose the one which best expresses 3 Expensive Prestigious Original Meritorious
the meaning of the word
"PRISTINE".
66 |Choose the one which best expresses 1 Assistance Monitoring Co-operation [Supervision
the meaning of the word "AID".
67 |Choose the word "opposite' in 2 Weird Clear Vague Determined
meaning to the word
"AMBIGUOUS".
68 |Choose the word "opposite' in 3 Inferior Superior Worthless Invaluable
meaning to the word "VALUABLE".
69 |Choose the word "opposite' in 1 Penalty Advantage Wages Reinforcement
meaning to the word "REWARD'".
70 |Choose the word '"opposite' in 3 Loud Blur Bright Dissolve
meaning to the word "DIM".
71 |Choose the word '"opposite'" in 2 Authentic Natural Familiar Truthful
meaning to the word "ARTIFICIAL".
72 |Choose the word '"opposite'" in 1 Scatter Suspend Spend None of these
meaning to the word "GATHER"'.
73 |A poem written on the death of 1 Elegy Epic Ode None of these
someone loved and lost
74 |A disease which spreads by contact 2 Infectious Contagious Contiguous None of these
75 |Meaning of Idioms and Phrases. '"To 3 To be rich Changing To be To be
blow hot and cold" and poor weather inconsistent trustworthy
frequently
76 |Meaning of Idioms and Phrases. "To 4 To knock him |To humiliate [heckle him To force
push somebody to the wall" down him someone into a
position where
there is only
one choice to
make
77 |Fill in the appropriate word. Have 1 seen see saw have seen

you ever...... Taj Mahal?
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Q. Correct
ki Question / g& Option Option 1 Option 2 Option 3 Option 4
No.

78 |Fill in the appropriate word. It's 1 of by with None of these
unfortunate that he died . . . ... ..
cancer.

79 |Fill in the appropriate word. I have 2 draw draft draught drought
made a rough ................ of the report.

80 |Fill in the appropriate word. The 1 off of up over
celebration went........ very well.

Computer Knowledge (20 Questions-in English Langquage)
81 |Text-styling feature of MS word is.. . . 2 WordColor WordArt WordFont WaordFill
82 |[In MS word, for what does ruler help? 4 to set tabs to set indents [to change All of the above
page margins

83 |What is the overall term for creating, 1 Word Spreadsheet |DBMS None of these
editing, formatting, storing, retrieving Processing design
and printing a text document?

84 |Which one of the following software 1 Spreadsheet |Database Word None of these
applications would be the most processor
appropriate for performing numerical
and statistical calculations?

85 | Which command will you choose to 1 Paste Special |[cut and paste |convert None of these
convert a column of data into row? > Transpose

86 | What is the length of MAC Address? 3 32 bits 64 bits 48 bits 128 bits

87 | ICMP is used in 1 (a) Ping (b) Ipconfig (c) Ifconfig (d) Both b and

c

88 | To change the ownership of files and 3 chown -L chown -H chown -R change -R
directories recursively, .................
command is used

89 [Command in Linux used to count 2 grep we count cut
number of character in a file is

90 |With electronic mail, you cannot do 2 Send and Delete Delete, reply | All of these
which of the following read mail someone else’s |to or forward

mail

91 |An icon or image on a web page 1 Hyperlink http plug-in None of these
associated with another webpage is
called

92 |which command is used to remove 1 rm fm am ren
files in Linux?

93 |Which of the following is not a 4 Internet Chrome Firefox Outlook
browser? Explorer

94 |What is the file extension of power 3 .doc xls .ppt None of these
point application?

95 |Which of the following is a type of 1 RAM Optical disk  |Hard Disk DVD ROM
primary memory?

96 |The full form of DPlis......... 1 Dots per inch |Dots per image|Dots per ink |None of these

97 |The smallest unit of a digital image is 1 Pixel Array Loop None of these
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Q Correct
Ni) Question / UF Option Option 1 Option 2 Option 3 Option 4
’ No.
98 |A ... is an icon on the desktop 3 kernel buffer shortcut spooler
that provides a user with immediate
access to a program or file.
99 |The ... feature in Word 2 Auto Mark Auto correct |Auto Spell Auto Fix
automatically  corrects certain
spelling, typing, capitalization, or
grammar errors.
100 [A half byte is known as : 1 Nibble Bits Bug None of these
3} e
(Vaibhav Mandloi)
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Shift-2
Q. Correct
No. Question / U4 Option Option 1 Option 2 Option 3 Option 4
No.
G.K. + G.S., Including GK of M.P. (30 Questions-English & Hindi)
1 [In which city of Madhya Pradesh 3 Chhindwara Indore Bhopal Ratlam
Tribal Museum is situated ?
2 |Nepanagar is related to which of the 2 Fertilizer Newsprint Sugar Waoollen
following industries- Paper Textile
3 |The Parvati Temple of 'Nachna 3 Jabalpur Sagar Panna Satna
Kuthar' is situated in -
4 |Hindustan Copper Ltd. Plant in 1 Malanjkhand, | Pithampur, Mandideep, Banmore,
Madhya Pradesh is located at - Balaghat Dhar Raisen Morena
5 |Which is also called as Gibraltar of 1 Fort of Fort of Fort of Orchha Fort
East? Gwalior Asirgarh Chanderi
6 [Which  Schedule of Indian 4 Ninth Second First Eighth
Constitution deals with the Language?
7 |In which house of the Parliament 1 House of Council of Both 1 & 2 None of the
money bill can be introduced ? People State above
8 |Article relating to Uniform civil code 2 Fundamental Directive Natural Right All of the
is in which part of the constitution? Right Principle of above
State Policy
9 |Which among the following Indian 1 Kamala Tulsi Gabbard Pramila Aruna Miller
origin woman have been elected as Harris Jaypal
Vice President of USA?
10 [Headquarter of World Health 3 Newyork London Geneva Paris
Organisation (WHO) is located at-
11 |Kailash Temple of Elora was built by 2 Gurjar Rashtrakutas Cholas Pallavas
which of the following dynasties? Pratihar
12 |Sundarban Biosphere Reserve is 2 Kerala West Bengal | Uttarakhand Assam
located in-
13 |Which is the shortest day in Northern 2 21 June. 22 December. | 23 September. | 21 March.
Hemisphere?
14 |Which one of the following Country 4 China Nepal Pakistan Bangladesh
shares the longest frontier with India
15 |How many players are there in 2 5 7 9 11
kabbadi Team?
16 |Neeraj Chopara is related to which 2 Archery Javelin Throw| Swimming Gymnastics
sport?
17 |King Bhoj was the ruler of which 2 Pratihar Parmar Chandel Rastrakoot
dynasty ?
18 |Hiuen Tsang visited India during 1 Harshvardhan| Bindusara Ashoka Chandragupta
who's leadership a Mourya
19 [Who is the Ex- Officio chairman of 4 Home Vice President| President Prime
NITI Aayog? Minister Minister
20 |Madhubani Painting belongs to which 1 Bihar Andhra Uttar Pradesh | West Bengal
of the following state? Pradesh
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Q. Correct
No. Question / U4 Option Option 1 Option 2 Option 3 Option 4
No.
21 [Hirakund dam is situated on which of 2 Chambal Mahanadi Mabhi River Indus River
the following river? River River
22 |Which of the following kingdom was 2 Bahmani Vijay Nagar Chola Chedi
formed by Harihar and Bukka? Kingdom Kingdom Kingdom Kingdom
23 |Who among the following was the last 2 Aurangzeb | Bahadurshah | Shahjahan Shahalam
Mughal ruler of India? Zafar 11
24 |Which among the following is 1 Waood's Maculay's Hunter None of the
considered as Magna Carta of English Dispatch Minute Education above
education in India? Comission
25 (Who is the author of "Him 1 Makhanlal Bal Krishna | Harishankar Gajanan
Tarangini''? Chaturvedi Sharma Parsai Madhav
Naveen Mukti Bodh
26 |Which state launched ''Pankh 2 Manipur Madhya Uttar Pradesh | Maharashtra
Abhiyan"? (on the Occasion of Pradesh
National Girl Child Day)
27 |What is the main objective of 1 To provide To provide Both 1 & 2 None of the
Pradhan Mantri Ujjwala Yojana? LPG LED bulbs above
connections to |for promoting
BPL families | efficient use
of energy
28 |"Mission Indradhanush' is related to 4 Bullet Train | Agricultural | Heritage City | Vaccination
= Project Development | Development
29 [Deficiency of Vitamin K causes which 3 Beri-Beri  |Anaemia (lack | Hemophilia Rickets
among the following- of blood) (Non-Clotting
of blood)
30 |Which of the following vaccine is 1 Covaxin Covishield Moderna Both 1 & 2
developed by Bharat Biotech?
1 |[A9. & FaadT §Teed 3 earsr gk $qTer TaAH
e # Ry 2
2 |AUEeR e 7 ¥ R o3aEe @ 2 e (I@ER FErST| A ol aE
fa 3
3 ['TaT FoR F1 UEA! Al U - 3 FaAR AR Tl =
4 |[FEwRY A Reeaw s fAfaes 1 Aaro@s, | AR UR | AN, | aWaAR, 4
5 | 9@ #1 Rrereex Y w@1 S 1 Tae] 1 | FHRATG FT | TGN HT fhell|  HRST &M
34 e e e
6 [l wfaue & Fla @ g 4 atdt Ead TEan radt
YT { Hefla @2
7 |te Rdws w6 & Fw dea A 1 ANFEHT TSI |9 | at 13K 2 |3 e & &
w&qa e S wFar 2 g T
8 |§HE ATRE |fear &1 AT 2 Aifts  [r F AR | Sl IR a3t
v & & smr & FFR | e aw | dfER
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Correct

No. Question / U Option Option 1 Option 2 Option 3 Option 4
No.

9 [E=faf@a & @ 9 &t s 1 FAA ¢RE | Jordt @S | i FF9Ter| won AR
Ha A Afgen A . TR F
IWreefd F A AT AT

10 |fea w@rT Fwea (WHO) &1 3 SRl ECCH Sretar T
FEaTey ffua § -

11 [T #1 Ferer AR fe=fai@a 2 ToR gfagr | Tege v Toaq
# ¥ Fw vsgEw F @ awarn
T 9r

12 [getas aaera Red Rua w2 2 Erct ofRaH @9 || 3IES I_H

13 398 Moy & §a8 o T S 2 21 5 22 R 23 Rax 21 A
R

14 [=afaf@a & & sla @1 3o 9Ra 4 Eic EEICH qifhEdTa TTARY
;mmaﬁ’trﬁmmm

15 ﬁgﬁﬁw#ﬁmﬁmmé‘? 2 5 7 9 1

16 |#ARr 9931 @ @d & gaOd 87 2 dRersh T e ENE ] e ceen

17 [T S RRE aw & aeE A2 2 EIC AR SLT TSgHT

18 [Ede mr @ fFas Aqged & aRe I géata figar I Teared A
HRa &1 R R

19 [T 3T & e rege F9 &2 4 DRGED 39 Irsguta seafa qUTAFA

20 |[Fyeett 3w feafafea & @ & 1 fagr Y WU | IR WU | gRwH T
5T § weftg &2

21 [#Rs @y PeefaRd A @ a 2 Taa A Hereral A A Ry &
a8 W g

2 ARRaIIFT I N 2 TEAA Regaer | 9 I@sy | 9fg aEsy
e gREX AR gF & Ay e AT HHTST

23 [Ffe@d & @ FlF sRa & 2 AMeoe | aEgEmEIE | AEE ATEIHTAH
Jfas Jore s 9w ghad

4 R I FA aa & 1 FRET | AT F [ oFE 3R A &
3N R F1 dAvem FES FE TR 97 FaftereT FE 7f
EIGIE

25 |RHA ool & @ & 82 1 AT@AATT e FOT R A | Ava

TqAE AT FAdeT AqfFa aw
26 [T Ao G@w & T W 2 AfaR JqET Yo Ll HERTSC

e Tsg & cgw HHAE gE
o
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Q. Correct
No. Question / O Option Option 1 Option 2 Option 3 Option 4
No.
27 |UTHA 3SSiae Al F qE 1 A RTd [ F FAA | QA 10T 2 [3RFT A
35T F1 &7 i@t 39T S FE a8
td A | FEET R F
Feler o v §.
39y A | F. Ted TG
& for HLE
28 | guey wefd - 4 Tae oo PN Rew | Res A AFrHTor
P @ Saaade
(e o
)
29 |Refs K 7 ¥ FaRa 3 - el @ | e R
# ¥ F= g & (@ F
qFHT AR
STHT)
30 |[efaf@a # ¥ sl a1 = 1 Fradl Fifaefies AEAT Qe 17T 2
Rd Tres cant fasfda fean
R
Maths + Reasoning (20 Questions-English & Hindi)
Directions- (Q.No.'s 31 to 35)
Answers of the following question is based on the diagram given below, where the triangle represents doctors,
circle represents players and rectangle represents Artists ?
2
s
1 N
|
31 |Question- Which numbered space in
the diagram represents doctor who 4 2 3 4 5
are also Players and Artists?
32 |Question- Which number represents
: 2 4 6 7 8
Artists who are also Player only?
33 |Question- Which number represents 1 1 2 3 4
Artists who are neither Player nor
doctor?
34 |Question- Which number represents 2 2 3 4 S
doctor who are neither player nor
Artists ?
35 |Question- Which number represents 4 1,2 3.4 6,7 7,8

player who are neither Artists nor
doctors
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Question / U

Correct
Option
No.

Option 1

Option 2

Option 3

Option 4

Directions (Q.No.'s 36 to 38)

The following question is based on the given Information.

'P@ Q' means 'P is the mother of Q'
'P S Q' means 'P is husband of Q'
'P # Q' means 'P is sister of Q'

'P * Q' means 'P is son of Q'

36

Question- Which of the following
indicates the relationship of 'R is the
Daughter of T'?

4 T@ B#F*R

T@ B#R * F

R@F*BaT

R#F*BST

37

Question-M * H @ D $ K represents
what relation of H with K ?

3 MOTHER

FATHER

NONE OF
THESE

FATHER IN
LAW

38

Question- If F#J *T SR @ L, then
which of the following is definitely
true ?

2 LIS
BROTHER
OF J

F IS SISTER
OF L

F IS
BROTHER
OF J

FIS
BROTHER
OF L

39

If the word “ L E A D E R ™is
coded as 20-13-9-12-13-26, how would
youwrite“L I G HT"?

3 20-16-17-15-27

20-15-16-18-23

20-17-15-16-28

20-16-15-17-22

40

Select the number that can replace the
question mark (?) in the following
series-

8,17,9,19,10, 21,2,?

2 11,24

11,23

11,22

10,23

41

What will be the value of -
X 18x7+ 108x - 216 if x=17

1 1331

4913

2197

729

42

The average age of 11 players of a
football team is increased by 2 months
when 2 of them aged 18 years and 20
years are replaced by 2 new players.
Find the average age of new players
(Closest estimation)

2 20 years 1
month

19 year 11
month

20 year 9
month

20 year 2
month

43

A can do a piece of work in 10 days: B
in 15 days. A & B together work for 5
days. The rest of the work was

finished by C in 2 days. If they get Rs.
1500 for the whole work, the total

daily wages of B & C are?

4 300

270

250

44

A sum invested at 5%Simple interest
per annum grows to Rs. 504/- in 4
years. The same amount at 10%
simple interest per annum in 2.5 vears
will grow to?

4 420

n
h
=]

n
[
n

A number is multiplied by 5 and 25 is
added to it. The result is divided by 5
and the original number is subtracted
from the same. The remainder will be?

46

A bag contains 4 Red, 5 yellow and 6
pink balls. Two balls are drawn at
random, what is the probability that
none of the balls drawn are Yellow?

2 2/7

317

1/7

5/14

Shift-2




Page 6 of 10

Question / 9%

Correct
Option
No.

Option 1

Option 2

Option 3

Option 4

47

What will become in place of question
mark (?) in the given series?
264 262 271 243 308 ?

4

163

216

194

182

48

A sum in 5 year gets 5 times of its own
on Simple Interest. Find the interest
rate.

100%

80%

40%

20%

49

Divide 243 into three parts such that
half of the first part, one third of the
second part and one fourth of the
third part shall be equal:

48, 63, 132

54, 81, 108

62, 84, 96

44, 90, 66

Ritu is 40 years old and Richa is 60
years old. How many years ago was
the ratio of their ages 3:5?

7 years

10 years

25 years

35 years

e Ader- (wea F.31 ¥ 35)

frfaf@d v # 3w A R 7 M@ W amula g, 5w Bee sy &1 wfafafte war 899
Redat &1 vfafafaa wvar € 3k a3mga Fa=r 1 v F=ar #

T

3/
e e
1 ‘ J

31

TeT:- NG A FlT T 3F & T
e F1 yfafafa s g
e v Faer st B

32

YeeT:- INW@ A FiT q HF F1 T
FAHR & yfafafca Far &N
Fao @ sft 2

33

- INW A HIAA IF FAGR
w1 gfafafg srar g, s 7 &
ReH ¢ 3k 7 & s ¥

34

9eeT:- AT HF SiFeT &1
yafaftc #tar s 7 & Ra
2@ Fawr B

eet:- HlAAT IF FAE) &7
s sar g a &
FATHR g, T & SFe?

1,2

3.4

6,7

7,8

e order:- (wea .36 ¥ 38)

¥ yea ffof@a S o amufRa §:-

P@QHIFTEPQH &1 &
PSQH T E P,QF gl &:
PH#Q & Y Y P,QF TEA §:
P*Q & FF E P,QFT I B

36

ged - Aefaf@a # ¥ Sl
FffeafFa REd ¢ &7 R, TH
¥ R

T@B#F*R

T@ B# R * F

R@F*B@T

R#F*BST
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Question / U

Correct
Option
No.

Option 1

Option 2

Option 3

Option 4

37

geT - M *H@D$K3?3THRHTTH
K& 919 g yoR defta &2

3

——

AT

R

A ¥
gt

IJq

>

38

T -F#J*TSR@L& a0 &
farafaf@a & ¥ saw AR
™ F IR

L J& &€ &

F, L&Y dga

F,J& &8 ¢

F,L&T 8TE §

39

T AE “LE ADE R”® 20-
13-9-12-13-26 for@T Smam &, ar «“ L
G H T"® 59 vor @ s

20-16-17-15-27

20-15-16-18-23

20-17-15-16-28

20-16-15-17-22

40

f=faf@d Aot & weafRes )&
T 9T 3 el &A1 FT 949
Cxdl

8,17,9,19,10,21,2,%

11,24

11,23

11,22

10,23

41

e x=|7% ar

X<sup>3</sup> — 18x<sup>2</sup> +
108x — 216 FT AT M 2

1331

4913

2197

729

42

Gedla ¢ & 11 a3l #
tea Iy # 27 A w0 @
et &, 183§ 3k 2099 & 2
enf3al # 2 a3 Renfeat gamn
ago G Smar €1 a2 Renfeat i
3itwa Iy gl (Psveas s

203¥ | ATE

19a% 11 #AE

203¢ 9 HATE

203% 2 AR

43

ATEH FE A 10 e #F quf Far
T B3W FE & 15T A qof
Fa1 ¢l AR B AT sRe a=
ag S FA g, 991 FF C
@Er 2 e # qof & R Sman
e FE B Of = wFA
AT 1500 9T §1 BTG C F1

wfafes &1 Fa spram
grem?

300

270

250

225

44

Tdh AU 5% FTUROT AT Y
WA 4a8 A 504 T @ A B
FE UAATA 10% ATUROT sATST Y
W ¥ 2538t F frge @ SR

420

650

550

525

45

wmﬁeﬁmmm
2%3?313181%IWW$‘(<#
T T 3HA F A GEAT H

T 1T 1 WIed QNG gem 2

0

46

tH dd A ad, saT T 6
mﬂt(m%la‘rﬂzwﬁzﬁ

2/7

377

1/7

5/14

47

ﬁmm# & T W A
arell g&ar gl

264 262 271 243 308 ?

163

216

194

182
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X

Q. Correct
No. Question / & Option Option 1 Option 2 Option 3 Option 4
No.
48 |Us YU 5a¥ A FUROT s 2 100% 80% 40% 20%
W FET A 5T g AT R, sqreT
N T AT ?
49 243 3TN A 3H TR fIstriora 2 48,63,132 | 54,81,108 62, 84, 96 44, 90, 66
& TUH HET FT HUT qEY HET
&1 v g va Y smr # vE
YT HET W {2
50 |Rq #1 37 40a¥ va Ran 1 37 2 7a% 10 aY 25 9% REEL |
60 a¥ g1 Fraet a¥ qF =t Y 37
HT HqITd 3:5 91?2
Hindi (10 Questions-in Hindi Langquage)
51 [‘ws @ oot & 9ce e #1 3T § 2 Rearum | ¥6E ImEd | oF ao & | [ T
..... =fda T F@HE 114
arer
52 |t & druw S AT § 3 | el Femen | Rew g | g #amen [3cmata g
53 |t F Flean a=T ey B2 3 FRAA | RAA | SRA A | oG A
g anfaar &
54 |frer F Flaw a=w ey 3 |G EUS U |dgEUS AT | GE EUS F | aF &US oot
T ¢ IR g I § o ¢
55 |‘@erdt H1 RAURN & @S FlT g2 2 EEEn IR | I HACIRAT
CICIES
56 |FRA N T F AR FiT 82 2 qoEd A | PHETAN | STARER WG | Agredl @l
AT FgreT
57 |‘a¢ AR\ & WA i &2 i e aegey g Agedt aA
et &R ACEL
58 [TarferaT Y avelt g2 1 Tl ot g arelt Festtont
59 |FeTdis qFEER: AT g7 4 [ R oo @ [afe s ¥ [Fega s @ weft s
et F
60 |IrAvor F1 I R=dg &2 4 HRAW+IT He+9OT I+ AWOT HeT+Tor
English Knowledge (20 Questions-in English Lanquage)
61 |Choose the one which best expresses 4 Independent [Comfortable |Secret Safe
the meaning of the word "SECURE"".
62 [Choose the one which best expresses R} Mild Mediocre Think Punish
the meaning of the word "MULL"".
63 |Choose the one which best expresses 3 Distinct Vague Vivid Grace
the meaning of the word
"GRAPHIC".
64 |Choose the one which best expresses 2 Adult Childish / Tedious Humorous
the meaning of the word Young
"JUVENILE".
65 |Choose the one which best expresses 3 Easy Offensive Serious Normal
the meaning of the word "SEVERE"".
66 [Choose the one which best expresses 2 Essential Inborn Unique Important

the meaning of the word "INNATE".
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Q. Correct
No. Question / U4 Option Option 1 Option 2 Option 3 Option 4
No.

67 |Choose the word '"opposite' in 2 Profuse Profane Profound None of these

meaning to the word "SACRED".

68 [Choose the word 'opposite' in 1 Self- Fate Vulnerability |None of these

meaning to the word "DESTINY". dependence

69 |Choose the word '"opposite'" in 4 Confirm Punish Blame Indict

meaning to the word "ACQUIT""

70 |Choose the word '"opposite' in 1 Dull Dumb Dusty Splendid

meaning to the word "BRILLIANT".

71 |Choose the word '"opposite'" in 1 Recent Useless Rare None of these

meaning to the word "OBSOLETE"".

72 |Choose the word '"opposite'" in 3 Criticise Rebuke Praise None of these

meaning to the word "SCOLD".

73 |To send an unwanted person out of 2 Exclude Deport Import None of these

the country

74 |A person living permanently in a 1 Domicile Subject Resident None of these

certain place

75 |A person interested in reading books 1 Book worm Student Scholar Book keeper

and nothing else

76 |(Idioms and Phrases). To give a false 3 To be honest |To showthe [To None of these

colouring facts misrepresent

77 |Thisisagood........ for a picnic. 1 spot landscape scene plot

78 |[There is no place for........ in an 2 duffers errors assets None of these

accountant's job.

79 |There is no culture in the world . . . .. 4 that which that which is |that what is that is

. ... absolutely pure
80 |Before sometimes, the monkey 2 on into near upon
jumped...... the river.
Computer Knowledge (20 Questions-in English Language)
81 |In a word processor, text can be made 2 Ctrl + B Ctrl + 1 Ctrl + U None of these
"italic'' by pressing the keys ... ...

82 |The "word wrap" feature means 1 Automatically [Appears at Allows you to |Is the short
moves text to |the bottom of [type over text |horizontal
the next line  [the document line indicating
when the end of the
necessary document

83 |Excel uniquely identifies cells within a 3 Cell number |Column Column Cell locator

worksheet with a cell name: numbers and |letters and coordinates
row letters row numbers

84 |The basic unit of a worksheet, into 1 Cell Box Column Table

which you enter data in Excel is called
a:
85 |To get information about the Ethernet 2 ipconfig ifconfig eth( man Ethernet
card, command is used
in Linux
86 | Linux command that could be used to 2 free df-h du dl

determine the amount of free space
left on a mounted drive is
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:
Q. Correct
No. Question / g5 Option Option 1 Option 2 Option 3 Option 4
No.
87 |URL stands for 3 union uniform uniform union
reference label |relocate label |resource resource
locator locator
88 |Components required for a video- 4 Web Camera [Microphone |Computer All of the
conferencing system system above
89 |Which command brings you to the 3 Next slide Page up Ctrl + Home [Ctrl + End
first slide in your presentation? button
90 |Which of the following can not be 2 Period (.) Space() symbol (@) None of these
part of an email address?
91 |What is the shortcut key to start 2 Fl1 F5 F3 None of these
presentation from beginning in power
point?
92 | A collection of 8 bits is called 4 Record Word Nibble Byte
93 |Which of the following is not a type of 4 Laserjet inkjet dot matrix sonicjet
printer?
94 |Which of the following is not a type of 2 ring circle bus star
network topology?
95 |One MB is equal to 1 1024 KB 1024 bytes 1024 MB 1024 GB
96 |[Processing involves : 3 Inputting Displaying Transforming [None of these
data into a output input into
computer output
system
97 |Which of the following is an Antivirus 4 Quick-Heal McAfee Norton All of these
software?
98 |[The utility shrinks the size of 1 Compression |Defragmenting|Scanning None of these
a file so it requires less storage space.
99 |Which of the following is a non 3 Dot matrix Line printer  |Inkjet Printer |None of these
impact printer? printer
100 |Which of the following is a cloud 4 Google Drive |[One Drive Drop Box All of these
based storage solution?

2 OW-
(Vaibha andloi)

Registrar (Exam)

O

g = 2 f()’)"h7z,
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Shift-3
Q Correct
N(; Question / g4 Option Option 1 Option 2 Option 3 Option 4
’ No.
G.K. + G.S., Including GK of M.P. (30 Questions-English & Hindi)
1 |Panna district of Madhya Pradesh is 4 Manganese Marble Mica Diamond
famous for which Mineral ?
2 |How many seats are allotted for 3 9 10 11 12
Madhya Pradesh in Rajya Sabha?
3 [Bhimbetka was discovered by whom ? 3 Dr. H.D. Dr. Shyam Dr. Vishnu Dr. Rajbali
Sankhalia |Sundar Nigam| Shridhar Pandey
Wakankar
4 |Betwa River originate from ........ - 2 Kakri Badi Vindhya Mahadev Bagli Gaon,
Hill, Indore Range Hills, Dewas
(Raisen) Pachmarhi
5 [(Which National Park of M.P. is the 1 Kanha Kisli | Bandhavgarh Pench Van Vihar
only natural habitat of Barasingha? National Park | National Park | National Park | National Park
6 |Which part of the Indian Constitution 2 Part 111 Part IV Part V Part IV (A)
deals with "Directive Principles of
State Policy"?
7 |How many member of Rajyasabha 3 2 10 12 15
are nominated by President of India?
8 [National Law day is celebrated on- 1 26 November. | 11 October. | 10 December. | 10 October.
9 |Which among the following 3 Vienna Montreal Bonn None of the
convention/ protocol is not related Convention Convention Convention above
with protection of atmospheric Ozone
Lavyer?
10 |Who won Nobel Prize for Peace in 3 Maria Ressa Dmitry Both 1 & 2 None of the
2021? Muratov above
11 |When was project tiger launched in 2 1975 1973 1964 1974
India?
12 |What among the following is standard 3 69'30 E 75'30 E 82'30 E 90'30 E
Meridian time of India?
13 [Which of the following line separate 1 Radcliffe Macmohan Durand None of the
India and Pakistan? above
14 |Which of the following is the first 4 Assam Mizoram Meghalaya Sikkim
organic state of India?
15 |Who has been awarded as ICC Male 1 Virat Kohli Steve Smith M.S. Dhoni Joe Root
Cricketer of the Decade?
16 |Durand Cup is associated with which 2 Hockey Football Cricket Badminton
sports?
17 |In which year did Vasco-da-Gama 1 1498 1502 1496 1505
came to India?
18 [Which of the following weekly journal 4 The Hindu Indian The Times of | Young India
was started by Mahatma Gandhi? Express India
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Q Correct
Nc.z Question / g# Option Option 1 Option 2 Option 3 Option 4
) No.
19 [The word "Satyamev Jayate'" has 3 Chhandugya |Brahadaranya| Mundaka Kaushitaki
been taken from- Upanishad | ka Upanishad | Upanishad
20 |Which Committee recommended 1 Balwant Rai | Ashok Mehta [ L.M. Singhvi | G.V. K. Rao
three tier Panchayati Raj System? Mehta Committee Committee Committee
Committee
21 |Jawahar Sagar Hydro Electricity 2 Narmada Chambal Tapti River Mabhi River
Project is situated on which river? River River
22 |In which city ""Aishbagh Stadium" is 2 Indore Bhopal Gwalior Jabalpur
situated?
23 |Which among the following Gupta 4 Skandgupta |Chandragupta| Samudragupt | Kumargupta |
ruler founded Nalanda University? 11
24 |Who among the following was 24th 4 Parshvanath Rishabha Ajitnath Mahavir
Tirthankara of Jainism?
25 |Raja Ram Mohan Roy was founder of 3 Deva Samaj Arya Samaj Brahmo Prarthana
which of the following organisation? Samaj Samaj
26 |Where is Currency Printing Press is 1 Dewas Neemuch Hoshangabad Guna
situated in Madhya Pradesh?
27 |Till now how many National 3 2 5 3 4
education  policies have been
implemented in India?
28 |When did regular census began in 3 1861 1871 1881 1891
India?
29 (Which of the following blood group is 4 A - B - AB - O -
called a ""Universal donor"?
30 |Who was the inventor of 1 Daniel Marrie and Sir J.A. None of the
Thermometer? Gabriel Pierre Curie Fleming above
Fahrenheit
1 |A9 #1911 oren e @l & 4 et FIAGR E'r oo a
o wfgy ¥
2 |AEYeY F o TsIws A fhae 3 9 10 1 12
e mafea €
3 [sheefee # Reeat @ am 3 S.U9.3. (3L gax | sifasop [ st wereet
Fif&eran e [T awure| gosw
4 [adar & F 3EM.......... & 2 TR fer odq | gwadt i A &
EIER (IAT)
5 |FETYC H HlT HT UK 36T 1 Flegl fhgelt | amgde. 9T T aa faer
TRERAET F1 vHA TFHfaE A T 3 | TE 350 3¢AE | A 3ehT
34
6 |9 wfaue &1 Fla @ smr 2 Eoieic T IR T 919 | HWT 9R (A)

"I & Ay [ @' @
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Q Correct
N(; Question / 95 Option Option 1 Option 2 Option 3 Option 4
) No.

7 |9Ra@ & Tegula G@NT T |I A 3 2 10 12 15
fraer & A FAT R Sran
(34

8 [t R REw #amn s 2 1 26 AdET TEL%H 10 REex 10 3aF¢aR

9 |P=fa@a & ¥ sl a1 g/ 3 R Alflecdd | a1 FFASS 39090 A &
WS agHSHT e WA & A AT ]S T8
FEOT ¥ FafUa qE

10 2021 F ify F1 AT [EFR 3 i W [ AR e [3We 1w [3WEa A @
frEe Shar 2 E 78

1l [9Ra & Noee BN Fa Y& 6 2 1975 1973 1964 1974
LW

12 |f=faf@a & & #Rd &1 AS 3 69'30 E 75'30 F 82'30 F 90'30 E
AU §AT F1 37

13 |[Pe=faf@a & & Fla @ @ ara 1 ERaw AFArE 5] 3T # A
i wfrae &1 e w82 g T8

14 |[P=faf@a & ¥ i sma &1 4 A e AT RfFEa
gl s Tsd &2

15 |qurs & g, @ @) o e & 1 e Fgeh | e By | wH. vy ot N T
w9 # fFY gEfag & o @

16 |33 F9 @ @ ¥ FaUqd g2 2 cal Feard e e

17 |aR1-3-ameT oRd A Fa av 1 1498 1502 1496 1505

18 |F=faf@a & @ ol @ gcaes 4 T g sf3gs g T Iar g3
af¥e &t Agien M F @ 4w T 3w 3f3a
T I ar

19 g Jga UAeg o1 14T ¢ - 3 Eearet FEERTAF | HSHMANG Hifafs

3ufawg 3ufawg

20 [Brealy qadY U9 sgaEd & 1 Idad (¥ | 3meE Agdr TH.TH. |SNdL&
o v wfAfa o Rwfer i 4 Agar gfAfa gfafa Rudr gfafa afafa

21 [JaER WPR I fegd aRarsen 2 ader a4 gad Ao arcct a7y AR A
Fy ) W g 2 _

22 [deramr 3T FE aw A 2 ELAny aaTer Tqrfer ] ELCEN
Rya &

23 [Areier Reafag@me #1 wmwan 1 wheaed e TG | AR
o & & Fw o as @ A afada TUH
oY

4 PRI A I T AT ad & 4 qIsEATT ER L] EiEcoiey AEdR
248 AgHT A2

25 [ToR# A 19 Afaf@a 8 @ 3 3@ A | T QAT | qEA FAS | WA FAS
fFE IS & FTYUUH A2 .

26 |HEw g A S Wi 97 Fa 1 ag A= FRATETG AT

27

28

1861

1871

1881

1891
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No.

Question / U5

Correct
Option
No.

Option 1

Option 2

29

ffof@a & ¥ Fw &
N "WESATAS ST FET AT ¢

4

A -

B-

30

AT F SRS i 2

EIGEG
A

BRATIZE

0 3R
Ry =

Maths + Reasoning (20 Questions-English & Hindi)

Directions (Q.No. 31 to 35)

Study the following arrangement carefully and answer the question given below-

WIR%4JE#TMT2I1I19BH3ASI9FQSDG6USTP

31

Question- Which of the following is
the seventh to the right of the
eighteenth from the right end?

3

E

A

32

Question- If the order of the last
fifteen elements is reversed, which of
the following will be fifth to the right
of twelfth from the left end?

U

33

Question- Three of the following four
are alike in a certain way on the basis
of above arrangement and hence form
a group, which one does not belong to
that Group?

7ET

RW4

3BS

34

Question- If the positions of E and A
are interchanged and similarly the
positions of R and U are interchanged
then how many symbols will be there,
each of which is either preceded or
followed by a vowel

Three

One

Four

Two

Question- What should come in place
of question mark on the basis of the
above arrangement?
R4# M2B 3$Q ?

3&4

D6S

D6P

36

In another parallel reality, sofa, chair,
printer, car and shoes are coded as
car, printer, shoes, chair and sofa
respectively. What would one drive?

CAR

CHAIR

SOFA

PRINTER

37

Find the missing number?

7,26, 63, 124, 215, 342, ?

481

391

421

38

Which of the following words will
come second in the English dictionary?

Magnetic

Maternal

Magnify

Magical

39

In a certain code, a number 13479 is
written as AQFJL and 2568 is written
as DMPN. How is 396824 written in
that code?

QLPNMJ

QLPMNF

QLPNDF

QLPNMF
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No.

Question / 9%

Correct
Option
No.

Option 1

Option 2

Option 3

Option 4

40

At the end of a business conference
the 10 people present there all shake
hands with each other once. How
many hand shakes will there be
altogether?

2

20

45

n
n

90

41

Directions-

What will come in the place of
question mark:-
?+5+7)x14+112=420

710

720

660

770

42

A is twice as old as B and half as old
as C. If sum of B and Cs' combined
age is 90 years, then age of A is?

30

36

38

32

43

A book seller earns a profit of 12% on
selling books at 10% discount on
printed price. The ratio of the cost
price and the printed price of the
book is?

99:125

50:6l1

79:36

44

A certain number of two digits is
three times the sum of its digits and if
45 be added to it, the digits are
reversed. The number is

32

72

23

27

If 12 carpenters working 6 hours in a
day can make 460 chairs in 24 days,
how many chairs will 18 carpenters
make in 36 days, each working 8
hours a day?

1380

1420

1392

46

A train 300m long is running at a
speed of 35m/sec. It will cross a bridge
of 400m in?

20 sec

35 sec

25 sec

30 sec

47

Find the cost of a cylinder of radius
14m and height 3.5m when the cost of
its metal is Rs. 50/- per cubic metre.

100208

109800

107800

150920

48

Direction-

Find the wrong number in the
following number series-

2,3, 6, 15,45, 156.5, 630

49

In a 100m race, P can beat Q by 25m
and Q can beat R by 4m. In the same
race P can beat R by:

19m

29m

28m

Ratio of speed of boat in downstream
and speed of stream is 9:1. If speed of
stream is 3km/hr then find distance
travelled upstream in 5 hours.

110

120

90

e (we #. 31 ¥ 35)

frafafa ses & aaegEs strme F Ak R RT T wa w1 5w -

WIR%4JE#7MT219BH3ASIFQSDGO6USP
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No.

Question / U

Correct
Option
No.

Option 1

Option 2

Option 3

Option 4

31

e - Aefai@a & @ Sl @1
T RA A ITmAF A R
189 dcg ¥ gt 3R I U
W

3

E

A

S

#

32

weT - gfg QA 15da &1 FH
mﬁmaﬁ,mﬁmﬁﬁa##

33

7TET

RW4

3BS

9QA

34

3vg 4

5GU

D6S

5GS

D6P

36

37

7,26, 63, 124, 215, 342, ?

481

511

391

421

38

ffaf@a & ¥ Flaar aeg 3Esh
YCHY F gEY T W g

Magnetic

Maternal

Magnify

Magical

39

I Fd gfas s F e
13479 §&AT A AQFJL for@r sman
t 3k 2568 ' DMPN forET Tar &,
ar 3 ihfas TN A 396824 Y
g yeR forEr s

QLPNMJ

QLPMNF

QLPNDF

QLPNMF

40

U& AR FFAAA & 3d A d@l
39T 10 @17 TF @Y & ;Y
Y e R Fa B s
3% g

20

90

41

farder-
TRATITE & T W FAT HTTAT:-
?+5+7)x 14+ 112 =420

710

720

660

770
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No.

Question / U5

Correct
Option
No.

Option 1

Option 2

Option 3

Option 4

42

AF HY BH Y A A ©
mcﬁm@rl/z%luﬁBm
CHY 3Ty &1 AT 90T g ar A
£ g Fraeh ¥

2

30

36

38

32

43

Wﬁﬁwmﬁﬂwgm
HeT T 10% A P aa1 § @
12% &1 @8 FATA ¢l Brae &1
T 7eg au e qeg
Heqrd grem?

99:125

50: 61

45:56

79:36

44

3 A H TH FEAT HIS IHH &
v &1 30 B AR 3w wEd A
453 AT Srar &, A wEd

3% gde A g1 9§ TEIT el

32

72

23

27

12 938 6 °UeT Yiafee S #id 24
&t F 460 FREW AR F AQ B
18 938 ganl 8 HUT gfafed S

& 36 ot H Praeht BT aetam

1452

1380

1420

1392

46

[
g 400 A s F fraar w#g &
IR &I A

20 9.

REE:#

25 9.

309

47

TF 147 T B g 35w
3w & Rt f faa 1 gei,
Safd urq # FAd T9F 50~ 97T
ue Hex

100208

109800

107800

150920

48

frafaf@a s s@en & wea
& A i
2,3, 6,15, 45, 156.5, 630

45

156.5

49

100 H e & 2l & pQ & 25HA:T
3R QR&A 4T ¥ & FHAT &I
3@ g3 & PRA fFaa A @
&0 FHaT 87

19 #Hex

25 #Hiex

29 #ex

28 #Hiex

50

URT & Heldd A/ A aAfd qun
uRT Y T F1 eaE 9:1 AR
urT & R 3 Rk Wy gver @
@ sgve A unr & Reda fFaeh
g a@ : I

105

110

120

90

Hindi (10 Questions-in Hindi Lanquage)

51

R Raw ¥ et AT AT &7

1

14 AR

14 3%

2 HFC

26 AGET

52

frfaf@a # &g 5w f
TN R A #?

qaTe

HEgUSA

53

Rl aITW1 &Y fa™ &7

i

FAAT

54

o & Flawn e Yy 2

HTshASR

3HTshTHS
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Q Correct
Nc.> Question / 95 Option Option 1 Option 2 Option 3 Option 4
’ No.

55 |1 A TR wreg A ey AT 3 = ey 7 L
T

56 |ffaf@a & #ia oS 2 e o= ehrel st
eyor &t &2

57 |5t @t g1t @ R gamar €37 2 FatPed wegaTd ESEEI] waE
FET AT 2

58 (o e @ R & @ &1 @A 2 FRH Fel By feraferaror
fruia 8,38 sga &

59 % F IO A T AR 1 I T el LCE]

60 |forter 71 v v Rede = & 1 [CEr I e ae

English Knowledge (20 Questions-in English Lanquage)

61 |Choose the one which best expresses 3 Clever Enthusiastic  [Curious Devoted
the meaning of the word "EAGER"".

62 |Choose the one which best expresses 3 Dust Soil Corrupt Stain
the meaning of the word "Taint"'.

63 |Choose the one which best expresses 1 Imitate Warn Take Fine
the meaning of the word
"SIMULATE".

64 |Choose the one which best expresses 1 Discount Interest Commission |Gift
the meaning of the word "REBATE"".

65 |Choose the one which best expresses 1 Surf Strike Heal Blithe
the meaning of the word "BROWSE'".

66 |Choose the one which best expresses 3 Pleasing Charming Wonderful None of these
the meaning of the word
"MARVELLOUS".

67 |Choose the word "opposite'" in 1 Active Permanent Modern None of these
meaning to the word "DORMANT".

68 [Choose the word 'opposite'" in 2 Convinced Diffident Positive None of these
meaning to the word "CONFIDENT".

69 [Choose the word "opposite" in 1 Flexible Hard Obstinate None of these
meaning to the word "STUBBORN"'.

70 [Choose the word "opposite" in 2 Scare Serenity Alarm Indifference
meaning to the word ""PANIC"'.

71 |Choose the word 'opposite'" in 3 Light Strong Delicate Rich
meaning to the word ""ROBUST".

72 |Choose the word ''opposite'" in 4 Artificial Shallow Real Deep
meaning to the word
""SUPERFICIAL".

73 [Meaning (Idioms and Phrases). "To 3 To find some |To destroy To criticise To cut some
pick holes" reason to something someone part of an item

quarrel

74 |Definition of ................ :Life 2 Autobiograph |Biography Bibliography |None of these
history of a person written by another y

75 |A decorative handwriting 1 Calligraphy  [Manuscript Inscription None of these
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Q Correct
N(;. Question / g% Option Option 1 Option 2 Option 3 Option 4
No.
76 |Meaning of (Idioms and Phrases). 3 To concentrate|To suspect To grasp the [None of these
""To read between the lines" hidden
meaning
77 |Fill in the appropriate word: The car 2 Failing Obstructing  |hiding None of these
was . ... .. the traffic and the
policeman asked the driver to move
off.
78 |Fill in the appropriate word: There 1 divergent independent |modest None of these
AVE oo ¢ e ,6 & views on the issue of
giving bonus to the employees.
79 [Fill in the appropriate word: A wise 3 lies bad manners |mistakes errors
person is one who learns from his. . ..
80 |Fill in the appropriate word: | don't 2 what where when which
know the city....... he lives.
Computer Knowledge (20 Questions-in English Language)
Which type of file is created by word 3 database file |image file document file [None of these
81 processing program?
A number of letter that appears little 1 Superscript Subscript Supertext Toptext
82 |above the normal text is called :
Which function in Excel tells how 2 Num Count Sum None of these
83 many numeric entries are there ?
A features that displays only the data 2 Formula Filtering Sum Pivot
84 |in column (s) according to specified
criteria in excel:
How many sheets are there, by 3 1 2 3 4
85 |default, when we create a new Excel
file ?
DNS is the abbreviation of 3 Domain Dynamic Domain Name |Domain Name
86 Network Network System Service
Service System
Which option of rm command is used 4 -b -p -q -r
87 [to remove a directory with all its
subdirectories
A web cookie is ........ 1 sent from a sent from user [sent from None of above
website and and stored in |internet
88 stored in the server service
user’s web during provider to
browser browsing web server
When using PowerPoint, to play a 3 View, slide View, slide View, slide View outline
89 |PowerPoint show for previewing the sorter show
show, select
The slide that is used to introduce a 3 graph slide table slide title slide bullet slide
90 |topic and set the tone for the
presentation is called the
Which file format can be added to a 4 .ipg .gif .wav All of the
91 i
PowerPoint show? above
The processor which performs 1 ALU Register Cache None of these
92 |arithmetical and logical operations is

called
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Q Correct
N(') Question / U Option Option 1 Option 2 Option 3 Option 4
’ No.
93 An error in computer program is also 2 Debug bug icon None of these
known as
94 [Choose the odd one ? 3 Mouse Keyboard Printer Scanner
Oracleis a 1 Database Word Operating None of these
95 management |processor System
system
""Passwords'' enable users to : 4 get into the make efficient |simplify file retain
96 system quickly [use of time structures confidentiality
of files
The file that is linked with an e-mail 2 Annexure Attachment Add-on Enclosure
97 |and sent to the receiver of the e-mail
is referred to as
08 A computer can not 'boot' if it does 4 Application Compiler Interpreter Operating
not havethe......... Software System
To maintain the computer safe from 4 Always use Always use Never click All of these
viruses and external attacks, one recommended |the up-to-date |links from
99 should : operating antivirus and |suspicious
system firewall emails or
updates. softwares. unknown
sources.
In the computer systems, the 2 Performance [Security Reliability None of these
00 encryption techniques are primarily

used for improving the
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Format for submitting objection on proposed Model Answer

Application NO.....ccccuevieeeierie e Name of APPIICANT..coussmsississssisssmmsasimmsaersssaemssisess

Q.No. in which objection is to be raised:

Objection (Tick which is applicable):

1. Provide answer is wrong

2. More than 1 answer is correct

3. Question is wrong

4. All answer are incorrect

5. Other Please specify

Objection in Brief for Q.No.
Source Annexed as

Objection in Brief for Q.No.
Source Annexed as

Objection in Brief for Q.No.
Source Annexed as

Objection in Brief for Q.No.
Source Annexed as

Objection in Brief for Q.No.
Source Annexed as

Objection in Brief for Q.No.
Source Annexed as

Objection in Brief for Q.No.
Source Annexed as

Objection in Brief for Q.No.
Source Annexed as

Objection in Brief for Q.No.
Source Annexed as

Objection in Brief for Q.No.
Source Annexed as

Note: Please annex 2nd sheet if required.
Please mention Q.No. in top of source material provided for that Question.
Highlighting the particular portion or line on which objection is based.



